Questions for page 154 of Crossroads text:

1. By approximately what % did the population of England rise between the years 1700 – 1851?


2. Give 2 possible reasons for why the population experienced such a

dramatic and rapid increase.

3.Calculate the total # of poor people in England who lived in substandard living conditions.

4.Give 3 possible reasons why a newborn had a 1 in 2 chance of

making it to the age of 5 for the working class compared to a 4 in 5 chance in the upper class.

5. Why is the statistic on toilets an important consideration?

6. On the map, describe the relationship between urbanization and primary resources.

Questions for page 154 of Crossroads text:

1. By approximately what % did the population of England rise between the years 1700 – 1851?

300%

2. Give 2 possible reasons for why the population experienced such a

dramatic and rapid increase.

· People moved there in order to find work
· Production of food increased so more people survived past age 5
3.Calculate the total # of poor people in England who lived in substandard living conditions.

40 000 in cellars + 60 000 in crowded apartments = 100 000

4.Give 3 possible reasons why a newborn had a 1 in 2 chance of

making it to the age of

5 for the working class compared to a 4 in 5 chance in the upper

class.

Working class would have lived in crowded conditions, spreading disease rapidly.

Working class would have had poorer quality of food AND less of it.

Working class would have had to work in tough jobs with long hours and poor working environments

5. Why is the statistic on toilets an important consideration?

It would indicate the lack of hygiene in this era, that would contribute greatly to the spread of disease.

6. On the map, describe the relationship between urbanization and primary resources.

With the exception of the southwest corner of England, the large urban centers such as Liverpool, Leeds, Birmingham, Bristol and London all are located near primary resources such as lead, salt, copper, etc… all which would help supply factories with their necessary materials.

PMI Chart for Industrial Revolution

	Plus
	Minus
	Interesting

	Increase in jobs
	Poor working conditions
	Resulted in immigration to N. America

	Increased productivity
	Child labour
	Connection today to technology that has continued to develop

	Advances in science
	Pollution
	Climate change links back to this Industrial Age

	New working class could earn money
	Exploitation of workers by owners
	

	Lead up to modern labour unions
	Women exploited in factories
	

	Masses had access to plentiful goods
	Quality of goods compromised by quantity
	

	Transportation advances made travel faster and easier
	Pollution created through transportation remains a legacy even today
	

	Laissez-faire government allowed individuals to compete for profits
	Rich got richer, poor got poorer
	

	New breeds of cattle produced more meat and wool
	Only rich farmers could afford the enclosed land and new cattle
	

	Exploration increased as  demands for raw material increased
	Exploration led to the slavery of natives in their own lands
	


